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HISTORY
( Honours )

Paper : HIS-HC-5026
[ History of India (1780-1857) ]

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten of the following as directed :
1x10=10

Corq A PIAl WRBIR e NP fa

(a) Where did the French establish their first
factory in India?

FYOPCE O[OS (SEEAFT 29T IR F'©
Bl R 2
(b) Who gifted Bombay (Mumbai) as dowry to
the British?
(IR 3707 (TER) (g Rowest Hivws Soze
fafesr 2
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(2 )

()  Which Buropean country was the first to
trade by sea route in India?

CPA SR Creel COlFRAT SIASS S
Y I PR 2

(d) Who wrote the book, India Today?
India Today SN 3= &l frfAfee 2

(e} Who was the founder of the Sikh
Kingdom?

P I @ wiee SlkfRe 7

(f) Who introduced the system of Daroga as
part of police reforms?

SR TR 9 3Eel wIEel UREl I

AT BIRRE ?

(g) Who was the in-charge of collecting
revenue under the Mahalwari
Settlement?

TEERIR IHERT TS G2 TRAZT 1NgS @
TfReT 7

(hj Who introduced . the Ryotwari

Settlement? ’ ‘
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(3 )

(i1 In which year was The Asiatic Soci ety of
Bengal established? : -

(PG qwaS  The  Asiatic  Socie iy of
Bengal ¥« 9] (x[B% 2

(), 'Who introduced the Doctrine of Lapse?

FR-[eere NS @ axdsy e 9

(k) Which Act ensured the establishment of
the Supreme Court in India?

P S S0S TS TREE B FA1Ls
e HffRe 2

() Which was lthe-‘ first Indian State to
accept the Subsidiary Alliance?

LTI Rl NS 2rze w91 o7 2o a5y
< nifeet 2

(m) Name the institutions through which
indigenous education in pre-British India
was carried out.

e TN Wb Sres e ot Bt 2
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i Which of the following statements about
the Revolt of 1857 is incorrect?

A 9 Rgas s o CTcs! SR e 7
{i)  Absence of all India 'participation
3NE SRSINT @HHHT S|

(i} Lack of unity between the Hindus
and Muslims

2 e JREET qere IF57 =S

(iii) Begum Hazrat Mahal lead the Revolt
in Bhopal

@o TEge WBge (SeEe [l (Tow
T DR

( Choose the correct answer )

( wrm Teaco! AR Tfered )

(o) Write any one economic impact of British
Colonialism in India. |

e @fte eFwElFeormy & e &
@Wﬁ‘ﬁﬁml

(p) What was Damin-i-Koh?
Cifer-2-cre 7 enfee 2
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(5 )

(g} Write any one impact of | Co’mmer'—r
cialization of agriculture in India.

T@*ﬁmﬁf@ﬂﬁaﬁ%ﬁm«ﬂﬁm
foram |

{r}] Where did the Revolt of 1857 start?
Streq b ReER 7 wINS C2feE 7

2. Answer any five of the following questions
in brief : 2x5=10

Wmﬁmfﬂmoiw Teq it

(a) Mention any two differences between the
Orientalists and Utilitarians.

PR W SRR Wee R @I 1ol
N TeEY FAN

(b) Write two causes for the introduction of
the Permanent Settlement in Bengal.

e IR I7alE 2w TR Y1 e fors |

(c) Why was opium cultivation important for
the British empire in India?
cree fHftes TER @ wres QS ﬁﬂl
g wnfee ? .
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(i)

(ii)

(iv)

( 6 )

(d} Choose and writ_é the correct -anSwer. :
am Seeh! MR for

Which of the follovnng crops was brought
to India by the Portuguese?

ST IR P ﬂ‘?ﬁ@?ﬂm RIS Wﬁfiﬁ ?
(i) Mango J/ =N

(i) Chilli / SEIE

(iti) Rice [/ ¥

(iv) Tomato / IRGIEY

(¢) Match the following :

oo [N R
Column—A - Column—B
TG | BT—3
Poverty and wun-British (1) William Jones
Rule in India (Book) T3 cs

Poverty and wun-British
Rule in India (2%)

The Asiatic Socnety of (2) Dadabhai Naoroji

Bengal TMTSi3 TeE(

fr afeaioe 2R w1 o

Fort William (3) Madras (Chennai)
Fort St. George (4) Calcutta (Kolkata)
FI6 CT6 T (T (TRl
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Write short notes on any four of the

What is shifting cultivation (thum)? Was
it preferred by the British?

TERE S (W) R Bfes Bure cww
SRBE 7

What is deindustrialization?
Rewnieg &9

Who annexed Awadh in British Empire?
Who was the Nawab of Awadh when it
was annexed? '

T R STErere s st sk 2
Wﬁﬁww.wmmmmm%? |

Name two leaders of the Revolt of 1857.
Svreq T Rearss 1o Grem =1 i |

Name the two leaders of the Santhal
Uprising.

CIEST IR qoe o 1% {4 |

following : Sx4=20
O R el BRER eviwe by (BRI -
(@) Mercantilism |
E”C$'i;f3@[ SI\g)q][?( S A o
{ Turn Over )



(8 )
(b)) 'Indifgo' Cultivation
i
(c) Subsidiary Alliance
FrerEs Rael e -

.(d) Police Administration in India under the

East India Company -
ST B2 R AR SIS [T 2P

(e Mahalwari Settlement

(1 Rural Indebtedness

A1y A9l

(g) Macaulay’s Education Policy

Macaulayd Pl S
(h) William Jones '
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. Answer any Jour of the following questions :

LOx4=40
T\“.:-”‘f.“?

TR R A sifRsE San f

(@)l With reference to the
discuss about the
relations.

Carnatic Wars,
Anglo-Mysore

RRLCAIE TR | L E iU Vet — RERENE S
TR R Wicets=1 =047 |

(b} What were the‘ factors that led to the
conflict between -Mir Kasim and the
English? What were its outcome?

T o Ieem  wers T FET
SRS 2 2AR Tt e rifet 2

() Discuss the orientalist perception of

India in the late 18th and early 19th
Centuries.

St ISR CEITIC SF Sy WO SWEENCS
ABICGRTTET SRS och AF Y= SIS
sl | -
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( 10 )

Critically  discuss  about  Ryo twari

AT
Settlement.
reTdl TvER «afb SWICEeArE T
ST |

(e} Critically discuss the theory of ‘Drain of
Wealth'’.

ey SRR S« SICETeAF {9
SIS{FCEET | |

(f)' Was there deindustrialization in India
during the period of your study?

(O ST SRS ST REinea T
CRfReTefss ?

(g} Discuss about the occurrence of famines
in India during the period of your study.

mﬁwwww-ﬁ—mﬁ#
ﬁmwwn

) Discuss the causes for the failure of the
Revolt of 1857.

sreq T GRS WWWW
M1 s
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( 11 )

) Write an essay on the forest policy in
India during the early 19th century.

3y NEIR HRENCS ©RSS TH-NS9 ey @z
SLIRE I

(G} What were the causes of the Santhal
Rebellion?

srseE Roa sRePHz & =nfee 2
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